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DI =X 1 44, 755, 335
ps+ T = 1 517, 132
Bt = 1 517,132 |+ A1) 30 m3
4. 0mPL E
%t (B ) 320 m3
4. 0mPL E
Vi L = 1 199, 160
W)=} wy ) T (@) ) =17 ny ) = 1 199, 160 |2v/7)-h (Ri%N) 7" ny ) 7H 3 m2
£ 2 35cm
A - BEARS (W) 0. 87 m3
FARAG RC-40 ;
JE ka2 =} 1.6 m3
18-8-40 (&)
PRI 8 T = 1 40, 336, 321
EELT = 1 219,135 |FRHEY 1 X
+4)
HEL 1 2V
+4)
PR [ AR T = 1 29,393,513 |av7)-} 485 m3
18-5-40 (BFB) —Ma& A& 27 -MEHIHE I
Bekay ) -b 44 m3
36-8-25(20) (FE4) ;
HEA JEAE ¢ 500 [J£1000] 28 m2
(k3 LER)
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70X 600X 1200 BLAMSI A &L ;

AT (—H%) 1 X
40X 600X 1200 EEFFASLHM & Te ;

A 1 X

277 )-hEIFL 214 fL
(REAF3E6)
¢ 35 HIFLIE Z500mm ;

277 )-hEIFL 180 fL
(& EE)
¢ 25 HIFLZE Z500mm ;

IR =) 214 N
(REAF3E)
SD345 D25 L=1000 ;

IR =) 180 N
(& EE)
SD345 D13 L=1000 ;

B EKALBR [V 2V v TIE] 246 m2
(REAF3E)

B EKALBR [V 2V v TIE] 68 m2
(& EE)

FTHEREAR [V V8 v L] 246 m2
(REAF3E)

FTHEREAR [V V8 v L] 68 m2
(& EE)

e 1 X
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TE[ERE T = 1 5,178,623 |2v))-} 77 m3
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¢ 25 HIFL%E Z500mm ;

IR =) 114 N
(i = 58)
SD345 D13 L=1000 ;

B EKALBR [V 2V v TIE] 43 m2
(i = 58)

FTHEREAR [V V8 v L] 43 m2
(i = 58)

s 1 =X
BER Yy MLEE

fRIEE T = 4,128,127 |2/7)-} 35 m3

18-5-40 (FBFB) —Ma& 4 27 -MERIHIE I |

Tl e 1 =X

avy)-hHIFL 58 0
(i = 58)
¢ 25 HIFLZE Z500mm ;

IR =) 58 N
(i = 58)
SD345 D13 L=1000 ;

B EKALBR [V 2V v TIE] 17 m2
(i = 58)
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A EREL ¢ 1000 1 =
¢ 700~ ¢ 1300 ;
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HEYE T = 2, 594, 260
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TE LB T =Y 976, 030 | BoE 190 m3
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20—k (SRR
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S BLERESE T Y 148,670 | EE{E¥EER 10 iEA|
EH -BR
INEV2 VACERER)! 10 FER
[LIF&0. 8m3 ;
A Y 959, 792
T HE R E T 7 337,898 | LK E 1 F2V
HAHF 1 =
HA)79v%=77 RC-40 FE/E100mn ;
TEHERHET Y 561,974 | L3 FHE K= 1 2V
B EHT = 59,920 | ZZiEAEEE B 4 A H
[ERAE Xy = 44, 755, 335
@R = 7,084, 600
HiE R = 2, 743, 600
et = 2,229,600 |"EAEEHE 93 AR
FEislia 323 2 4
3m2/ L (T EAEEH )
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3m2/ BRI (A ERER)

BGRESGESE (5 L) = 1 514, 000
B (FEEHL) = 1 4,341, 000
T = 1 51, 839, 935
Bl g 2 1 16, 604, 000
T =5l = 1 97, 375, 990
— R A 2 1 16, 114, 010
TS 2 1 113, 490, 000
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FHIA O-27) (WOBR) 1 =
R S B EATNA
| T (ICT) = 966, 000 | kxA (FEEIEGA) (ICT) 4,000 m3
AL T =Y 14, 549, 560 | F i 1 =
et AL TONLEER
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T = 1 20, 860, 055
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T =5l = 1 28, 932, 055
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